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QUESTION 1

A customer must store physical hard copies of transaction data off site to meet regulatory requirements. Which NetApp
technology enables the customer to accomplish this task?

A. SnapVault

B. NDMP

C. SVM DR

D. FlexCache

Correct Answer: A Section: (none)

Reference:
https://library.netapp.com/ecmdocs/ECMP1635994/html/GUID-74F9AB84-BF01-4F0F-91977C4D8C3F8002.html

QUESTION 2

While troubleshooting client access issues to a CIFS share, you notice that the issue only occurs when the data LIF that
the clients are accessing is on a specific node in the cluster.

In this scenario, which configuration should you review to determine why this issue is happening?
A. cluster health

B. Kerberos

C. share path

D. export policies

Correct Answer: B Section: (none)

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2426787

QUESTION 3

You are using AFF storage with the NVMe storage protocol on your Linux clients.

In this scenario, which NVMe feature must be present and enabled for the client to see storage failover happen?
A. Asymmetric Namespace Access (ANA)

B. Multi-Path 1/0 (MPIO)

C. Asymmetric Logical Unit Access (ALUA)

D. NVMe Qualified Name (NQN)
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Correct Answer: B Section: (none)

QUESTION 4

Which NetApp technology enables a volume to span across one or more aggregates and one or more NetApp nodes?
A. FlexVol

B. Flash Pool

C. Flash Cache

D. FlexGroup

Correct Answer: D Section: (none)

Reference: https://www.netapp.com/pdf.html?item=/media/17251-tr4571apdf.pdf (3)

QUESTION 5
After a network card was replaced in an ONTAP node, you see the output shown in the exhibit.

clusterl::> network port ifgrp show -node clusterl-01 -instance

Node: clusterl-01

Interface Group Name: ala
Distribution Function: ip

Create Policy: multimode lacp

MAC Address: 02:a0:98:£f8:91:14
Port Participation: partial
Network Porta: ellg, elh

Up Ports: elg
Down Ports: elh

clusterl::> network port show -node clusterl-01

Node: clusterl-01
Speed (Mbps) Health

Port IPapace Broadcast Domain Link MTU Admin/Oper Status
alla Default Default up 1500 auto/- healthy
(M Default Default up 1500 auto/1000 healthy
ela Cluster Cluster up 2000 1000/20000 healthy
elb Cluster Cluater up 2000 1000/10000 healthy
elc Default - down 1500 1000/~ -

eld Default - down 1500 1000/- -

alg Default - up 1500 auto/10000 healthy
elh Default - up 1500 auto/10000 healthy

What is the problem?

A. The interface group is configured in single mode.
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B. One physical port is not cabled.
C. One physical interface is broken.
D. One physical interface is mis-cabled.

Correct Answer: D Section: (none)
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